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fons:- ; iZ2x1=12
hns-.r;erT:: ::::: :lu?;t :nm.-h’. it can b€ 0150 exprpegng as :

2) Temperature Is the umegE —b) Sum Tﬁ:;nes dﬁ;: Esubstan-::ﬂ.
in K.Eand F.L : E and K.
a) difference in i) differenen in K. and T.E

¢} difference in T.E and PE :
3) na. 'n' resistors of equal resistance art Connected In series and then in parallel

then the ratio of their effective resistance wi| pe
a) 1:nd, b) n':l £} L:n d) n:l

4} In the nudeus of _Ca* there 2r€
] b) 20 protons and 20 neutrons

a) 20 protons and 40 neutrons )4
c¢) 20 protons and 40 electrons 0 protons and 20 electrons

5) Which of the following Is the Halide ore?

a) Fe,0, b) FeO, c) NaCl d) ZnS
6} A 25% alcohol solution means

a) 25ml alcohol in 100ml of water b} 25mi alcohal in 25ml of water

¢) 25ml alcohol In 75ml of water @) 75ml alcohol in 25ml of water
7) Kreb's cycle takes place in _

a) Chlaroplast b) mitochondrial matrix

€) Stomata d) inner mitochondrial membrane
B) Decreased Number of WBC is called us.___ - :

a) Anernia  b) Leucocytosis c) Luekopenia d) Thrombocytopenia
9} Match the following

i} Nissil's granules - Forebrain

ii) Hypothalamus - Peripheral Mervous system

i) Cerebellum - Cyton

) Schwann cell - Hindbrain

a) iii, I, b, i b) #, 1, bv, €) v, i, i, il d) i, v, i, li
10} Avena coleoptile test was conducted by

a) Darwin b) N-Smit c) Paal d) FW. Went
11) What is true of gametes?

a) They are diplaid b) They give rise to gonads

c} They produce hormones d) They are formed from geonads.

12) 9:3:3:1 ratio s due o
a) Segregation b) E_n:ussing over ¢)Independent assortment d) Recessiveness
Answer a sti r HlFart- . esti ?:15; “
r any seven questions of the following. Question No. 22 is compul 1=
13) Define moment of a couple, - e
14) State Ohm's law.
15) Write the different types of isotg of en and its percentage abundance.
16) Define Amalgan and give an Eiap:slg 2 5
17) Define Hydrated salt, |
1B) a) How does leech respire?
b) WI_'rat does CNS stand for?
19) Why is the Sinoatrial node called the pacemaker of heart?

. o Scanned with CamScanner
Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.Trb Tnpsc.Com
T (2) X SCIENCE

arts.
207 Draw the following Jlagrar and mention the p

5 FI.TFJ-F:‘?

L

- %
ey A [ B

, term Phenotype and genotype?
what do VoL ;L‘Eﬂﬁ:ﬂ 5‘; E;Lm placed at a distance of 4m. If he wants

:-. Tf::m.iﬂ at a distance of 20m, What should be the focal lergth of the
I. -

concave lens he must wear 7= 26
Answer any seven questions of the following. Question No. 32 is compuisary:-

1) State Hmﬂmﬁ Irgvi Fﬂmwnn?

i ‘s law. (2

gl ﬂ] anag:-igﬂn between EE:% ga_llul_; gnd real gas. (2) ;

2 t s 12 e . , :
) ﬁ irnﬂ‘glhisuéisngkl:!m;nd d'inrgnlf.n'l:!l is used as the heating element, Why?(.l)
36) a) Whatis rust? Give the equation for formation of rust? (2]

b) State two conditions necessary for rusting ::Jf iron. (2)

1‘_—‘1 Diferentiate the Monocot root and Dicot root?

A

1)
|

adaptations in leech. _ -
HﬁﬂT %:ﬁ:ﬂggﬁﬁﬂ: EH@E number of cells "L" which are 'I:I-ne_lc_pg-.j_-.u -Ei‘:',:fq-ﬂ
the body. "L™ has long and short branch called as "M" and i."-.' fr?-pt;ﬂ-.élﬂ
Th‘-HE is a gap 'O between twa ‘LIL cells through which nerve Impuisc ©
by release of chemical substance P
i} Name the celis 'L
i} What are M and N?
b %mmg?npxglmnm P
) Name the che : /
30) 2 :.':-‘hat is balting? How can it be induced amﬂcial'r_\r?{z%am "
b Write the difference between endocrine and E:ng:.lrﬁ“ wh.:stL-.-.-::u*a —
31) A pure tall plant (TT) is crossed with pure dwarl p ]

32) E’algﬂgtg: ?ﬁﬁg:rﬂnfaﬁ:f molecule present in one drop of water which
wetghs 0.183. 3
the questi Draw dﬂi:?rgmwwhmﬂr necessany IxT=21
Answer all the questions. cotar oY oia? (5) |
33) a) ) Differentiate the eye Eﬁa the? Hyperm (tﬂT]

What Is power of
b) é: What Is meant wuw z?mnr?{z}
)| wh?; ?rrigrud;r;i is 1;;|5F.'|:Ih'ltl|t!:!1I Elﬁasure the electric current? How should
it be connected in a drcult : .
34) a) ) Write the applications of Awgﬁdm“'f Iﬁa'::.ﬁlg —
' bond between H a r m
N g lfﬁ;{ﬁ’ forms the basis of iﬁentlﬁl::tdrqg. aroups? (3) for]
€) How does the P pemg.tﬂaﬁrnreslnd' from deliquesce 'mhim?ﬁ (4)
e,

b) %lhh what way hﬁmﬁﬁtwaqueuus solution? Give an e:ﬂ"“_ Name exch

Wh usous 2 i
35) a) Why arit leisucntsq-tﬂ classified asgranulocytes and agranulocyl e

Hions ]

cell and mention its fu ‘the uction of a flowering plant.
- involved In the sexual reprod

D)) Write the events cvent and write the types? L C oo 5)

a) Discuss the first o s
h’i Mention the advantad ;ngﬁ ﬂ%ﬁmmm plants?(2)

ii) Why s vegetative propagalio? PracHee 8
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